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Q@ (-13) + (+32) + (-25) - (-19)
= (-13) + (+32) + (-25) + (+19)
=13

© -24-17+29-15

= (=24) + (-17) + (+29) + (-15)
= 27




8 1-3+2-445-74+6-8+9-11-2 AASHA?

o7 @-8 ©®-9 @-0 ©-1

B

1-34+2-44+5-7+6-8+9-11
=(1-3)+12-4)+B-7)+(6-8) +(9-11)
= (D +(D+(-D+ (-2 +(-2)

=-10




ol

—_—

<
n_mo
o
Nfo

olp

@ 29 ® 41 @ 53 ®)s1

D 13

iy
N
-
] W
< 4
n_AJO _umo
Tol ol




10. o3 5 AQAFEGT A Fol 24 g2 A2?
@ 36 =22 x 32 @)60 =3x4x%x5
® 98 = 2x 72 @ 105=3x5x7

® 120=23%x3x%x5

@ 60=22x3x%x5




11. 600 =a"x b x & 2 AJAFEHD W, (a+b+c)x (x+y+2z) 9
@2 (Fa<b<c)

@® 12 @ 24 ® 36 @ 48 @60

600 = 22 x 3x 52 = a* x b’ x ¢ O|B2
a=2,b=3,c=5 x=3,y=1,2=2
w(a+b+c)x(x+y+z) = (2+34+5)x(3+1+2) = 10x6 = 60




12. & =910 9 AQ4E R 12H9

D1 @ 3 3®)5 @ 11 ®)13

910 =2Xx5x7x13
wrEbA] AQ14E 2, 5, 7, 13




@D 274 @ 574 ©) k¥l

2 WS A4 x o A4

@ 97y

® 1074

-2, -1, 0, 1, 2, 3, 4 ¢] 77} o]t}




14. "g=2 o2 4 A9E 7|2e 715 Aol duapt 7k 2

A4 ME A || B4 A
Hamzle(c)|l 7 | 10| 11 | 14 | 6
FA7I2(C)| -8 | -1 1 3 | -6




N

@ 0.5

® 25




16.

& 2ol A Al e 9 U] 5] o
S W ), Gof Fee S

® 10 @6 ® -2
@ -6 ® -10

Al o] = ol o] g2
(=3)+ 0+ (-4) + 5= -2 °|t}.
© & 7™
5+7+(-4)+0=-2
8+O=-2°B2 ©=-10
Q< st

(-3) + Q@+ 5+ (-10) = -2
(-8)+@=-2°]2=%
L@=6







A o] Zol7} 242 96 m, 84 m, 108 m <1 A+

18.

¥
b, WOl et E 4

o 9
= 1
o]—o]:ﬁ

96, 84, 108 ] FHjFF= 12

EDREE

8+7+9

=24 (7)
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5xa="T7xb=c? A
1)a=5x7?,b=5°x7T4 M, 5x(5x7*) =7x(5’>x7) =
(5x7)% = 352
1)a=22x5x7*,b=22x5>x7 4 m,5x(22x5x%x7?) =
7Tx(22x52x7) = (2x5x7)% = 702

i) a=32x5x72,b=3x52x7 LW, 5x(32x5x7?%) =
7x(32x52x7) = (3x5x7)% =1052
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[-1.6] = -2, [5.6] =5
[-1.6] + [5.6] =-2+5=3
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c=-2+3=(-2)+ (+3) = +1 o[tk
2. b=a-1°A
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